1. a. False due to ba

b. False b= 3b, + b2 + b4

C. False (see b.)

d. True, any vector can be written as a

linear combination of bi, bz, by, bs, b6:

$$\begin{bmatrix} u \\ v \\ w \\ x \end{bmatrix} = \alpha_1 \begin{bmatrix} 1 \\ 0 \\ 3 \\ -1 \end{bmatrix} + \alpha_2 \begin{bmatrix} -1 \\ -1 \\ 7 \\ 4 \end{bmatrix} + \alpha_3 \begin{bmatrix} 3 \\ 7 \\ 8 \end{bmatrix} + \alpha_4 \begin{bmatrix} 3 \\ 2 \\ 23 \\ 9 \end{bmatrix} + \alpha_5 \begin{bmatrix} 3 \\ 2 \\ 8 \end{bmatrix}$$

$$Using \quad b_5 = 3 \ b_1 + b_2 + b_4$$

$$= \alpha_1 \begin{bmatrix} 1 \\ 0 \\ 3 \end{bmatrix} + \alpha_2 \begin{bmatrix} -1 \\ -1 \\ 4 \end{bmatrix} + \alpha_3 \begin{bmatrix} 3 \\ 7 \\ 8 \end{bmatrix} + \alpha_4 \begin{bmatrix} 3 \\ 2 \\ 8 \end{bmatrix} + \alpha_5 \begin{bmatrix} 3 \\ 2 \\ 8 \end{bmatrix}$$

$$= \lambda_{1} \begin{bmatrix} 1 \\ 0 \\ 3 \\ -1 \end{bmatrix} + \lambda_{2} \begin{bmatrix} -1 \\ -1 \\ 7 \\ 4 \end{bmatrix} + \lambda_{3} \begin{bmatrix} 1 \\ 3 \\ 7 \\ 8 \end{bmatrix} + \lambda_{4} \begin{bmatrix} 3 \\ 0 \\ 3 \\ -1 \end{bmatrix} + \begin{bmatrix} -1 \\ -1 \\ 7 \\ 4 \end{bmatrix} + \begin{bmatrix} 1 \\ 3 \\ 7 \\ 8 \end{bmatrix} + \lambda_{5} \begin{bmatrix} 3 \\ 2 \\ 8 \end{bmatrix}$$

$$= (d_1 + 4d_4) \begin{bmatrix} 1 \\ 0 \\ 3 \\ -1 \end{bmatrix} + (d_2 + d_4) \begin{bmatrix} -1 \\ -1 \\ 3 \\ 4 \end{bmatrix} + (d_3 + d_4) \begin{bmatrix} 1 \\ 3 \\ 7 \\ 8 \end{bmatrix} + d_5 \begin{bmatrix} 1 \\ 3 \\ 8 \end{bmatrix}$$

$$=\beta_{1}\begin{bmatrix}1\\0\\3\\-1\end{bmatrix}+\beta_{2}\begin{bmatrix}-1\\-1\\7\\4\end{bmatrix}+\beta_{3}\begin{bmatrix}1\\3\\8\end{bmatrix}+\beta_{4}\begin{bmatrix}1\\3\\8\end{bmatrix}$$

so the only question is if
$$\left\{\begin{bmatrix} 1 \\ 3 \end{bmatrix}, \begin{bmatrix} -1 \\ -1 \end{bmatrix}, \begin{bmatrix} 3 \\ 8 \end{bmatrix}, \begin{bmatrix} 3 \\ 8 \end{bmatrix}\right\}$$

1s a basis. It is.

e. False. not linearly independent

F. True. (see d)

9. True. Check the determinant.

$$\begin{bmatrix} 1 \\ 1 \\ 7 \end{bmatrix} = 2, \begin{bmatrix} 0 \\ 0 \\ 3 \\ -1 \end{bmatrix} + 2, \begin{bmatrix} 0 \\ 0 \\ 0 \end{bmatrix} + 2, \begin{bmatrix} 4 \\ 4 \\ -4 \end{bmatrix}$$

or
$$\alpha_1 + 4\alpha_3 = 1$$
 $4\alpha_3 = 1$
 $3\alpha_1 + 4\alpha_3 = 1$
 $-\alpha_1 - 4\alpha_3 = 7$

K. False.
$$\begin{bmatrix} 0 \\ 0 \\ 0 \end{bmatrix} = 0 \begin{bmatrix} 1 \\ 0 \\ 3 \\ -1 \end{bmatrix} + 0 \begin{bmatrix} 3 \\ 2 \\ 23 \end{bmatrix}$$

1. True Can't write any 1 as sum of others

m. False
$$\begin{bmatrix} 4\\4\\4 \end{bmatrix} = \lambda \begin{bmatrix} 0\\3\\-1 \end{bmatrix} + \beta \begin{bmatrix} -1\\3\\3 \end{bmatrix} + \lambda \begin{bmatrix} 4\\4\\4 \end{bmatrix}$$

$$\begin{bmatrix} 44 \\ -4 \end{bmatrix} = \begin{bmatrix} 3 \\ -1 \end{bmatrix} = \begin{bmatrix} 44 \\ -1 \end{bmatrix} = \begin{bmatrix}$$

$$-2, \quad V_1 = b_1 = \begin{bmatrix} 1 \\ 1 \end{bmatrix}$$

$$V_2 = b_2 - \frac{\langle V_1, b_2 \rangle}{\langle v_1, v_1 \rangle} V_1$$

$$\langle V_{1}, \varphi_{2} \rangle = 1 \quad \langle V_{1}, V_{1} \rangle = 4$$

$$= \begin{bmatrix} 0 \\ 0 \\ 0 \end{bmatrix} - \frac{1}{4} \begin{bmatrix} 1 \\ 1 \end{bmatrix} = \begin{bmatrix} -1/4 \\ -1/4 \\ -1/4 \end{bmatrix}$$

$$V_3 = b_3 - \frac{\langle V_1, b_3 \rangle}{\langle V_1, V_1 \rangle} V_1 - \frac{\langle V_2, b_3 \rangle}{\langle V_2, V_2 \rangle} d_2$$

$$= \begin{bmatrix} -1 \\ -1 \\ 0 \\ 1 \end{bmatrix} - \frac{(-1)}{4} \begin{bmatrix} 1 \\ 1 \\ 1 \end{bmatrix} - \frac{5/4}{12/16} \begin{bmatrix} -1/4 \\ -1/4 \\ 3/4 \end{bmatrix}$$

$$=\begin{bmatrix} -1 \\ -1 \\ 0 \\ 1 \end{bmatrix} + \begin{bmatrix} 1/4 \\ 1/4 \\ 1/4 \end{bmatrix} - \begin{bmatrix} -5/12 \\ -5/12 \\ -5/12 \\ 15/12 \end{bmatrix} = \begin{bmatrix} -24/24 \\ -24/24 \\ 0/24 \\ 0/24 \end{bmatrix} + \begin{bmatrix} 6/24 \\ 6/24 \\ 6/24 \\ 0/24 \end{bmatrix} - \begin{bmatrix} -13/24 \\ -13/24 \\ 3.9/24 \end{bmatrix}$$

$$V_{4} = b_{4} - \frac{\langle V_{1}, b_{4} \rangle}{\langle V_{1}, V_{1} \rangle} V_{1} - \frac{\langle V_{2}, b_{4} \rangle}{\langle V_{2}, V_{2} \rangle} V_{2} - \frac{\langle V_{3}, b_{4} \rangle}{\langle V_{3}, V_{3} \rangle} V_{3}$$

$$= \begin{bmatrix} \frac{1}{3} \\ \frac{1}{4} \end{bmatrix} - \frac{4}{4} \begin{bmatrix} \frac{1}{4} \\ \frac{1}{2} \end{bmatrix} - \frac{7/4}{12/6} \begin{bmatrix} \frac{-1/4}{24} \\ \frac{-1/4}{24} \end{bmatrix} - \frac{\frac{-16}{24}}{\frac{12}{6}} \begin{bmatrix} \frac{-8/24}{24} \\ \frac{-8/24}{16/24} \end{bmatrix}$$

$$= \begin{bmatrix} 1 \\ 3 \\ 1 \\ 4 \end{bmatrix} - \frac{9}{4} \begin{bmatrix} 1 \\ 1 \\ 1 \end{bmatrix} - \frac{7}{3} \begin{bmatrix} -1/4 \\ -1/4 \\ -1/4 \\ 3/4 \end{bmatrix} + \begin{bmatrix} -8/24 \\ -8/24 \\ -16/24 \end{bmatrix}$$

$$= \begin{bmatrix} 12/12 \\ 36/12 \\ 12/12 \\ 48/12 \end{bmatrix} - \begin{bmatrix} 27/12 \\ 27/12 \\ 27/12 \end{bmatrix} - \begin{bmatrix} -7/12 \\ -7/12 \\ -7/12 \\ 21/12 \end{bmatrix} + \begin{bmatrix} -4//2 \\ -9/12 \\ -7/12 \\ 21/12 \end{bmatrix} + \begin{bmatrix} -4//2 \\ -9/12 \\ 0 \end{bmatrix} = \begin{bmatrix} -7/12 \\ 0 \\ 0 \end{bmatrix}$$

Now form the orthonormal set

$$\sqrt[4]{3} = \frac{1}{\sqrt{384}} \begin{bmatrix} -8/24 \\ -8/24 \\ 10/24 \end{bmatrix} = \frac{1}{\sqrt[4]{6}} \begin{bmatrix} -1 \\ -1 \\ 2 \\ 0 \end{bmatrix}$$

$$\sqrt[\Lambda]{V_{4}} = \frac{1}{\sqrt[\Lambda]{a}} \begin{bmatrix} -1 \\ 0 \\ 0 \end{bmatrix}$$

3a.
$$y_1 = Ax_1 - \begin{bmatrix} 12 & 0 \\ -3 & 7 \end{bmatrix} \begin{bmatrix} 1 \\ 3 \end{bmatrix} = \begin{bmatrix} 12 \\ 18 \end{bmatrix}$$

$$y_2 = Ax_2 = \begin{bmatrix} 12 & 0 \\ -3 & 7 \end{bmatrix} \begin{bmatrix} -7 \\ 4 \end{bmatrix} = \begin{bmatrix} -84 \\ 49 \end{bmatrix}$$

b.
$$A_{NEW} = C^{-1} A_{OLD} C$$

$$= \begin{bmatrix} 1 & 7 \\ -3 & -4 \end{bmatrix} \begin{bmatrix} 12 & 0 \\ -3 & 7 \end{bmatrix} \begin{bmatrix} 1 & 7 \\ -3 & 7 \end{bmatrix}$$

$$= \frac{1}{17} \begin{bmatrix} -4 & -7 \\ 3 & 1 \end{bmatrix} \begin{bmatrix} 12 & 0 \\ -3 & 7 \end{bmatrix} \begin{bmatrix} 1 & 7 \\ -3 & -4 \end{bmatrix}$$

$$= \frac{1}{17} \begin{bmatrix} -27 & -49 \\ 33 & 7 \end{bmatrix} \begin{bmatrix} 1 & 7 \\ -3 & -4 \end{bmatrix}$$

$$= \frac{1}{17} \begin{bmatrix} 120 & 7 \\ 12 & 203 \end{bmatrix}$$

3 d.
$$y_{\text{INEW}} = A_{\text{NeW}} z_{\text{INEW}} = \frac{1}{17} \begin{bmatrix} 120 & 7 \\ 12 & 203 \end{bmatrix} \cdot \frac{1}{17} \begin{bmatrix} -25 \\ 6 \end{bmatrix}$$

$$= \frac{1}{289} \begin{bmatrix} --2958 \\ 918 \end{bmatrix} = \begin{bmatrix} --10.2353 \\ 3.1765 \end{bmatrix}$$

$$y_{2NeW} = A_{new} \times_{2neW} = \frac{1}{289} \begin{bmatrix} 120 & 7 \\ 12 & 203 \end{bmatrix} \begin{bmatrix} 0 \\ 17 \end{bmatrix}$$

$$= \frac{1}{289} \begin{bmatrix} .779 \\ 3451 \end{bmatrix} = \begin{bmatrix} -0.4/18 \\ -1/.9412 \end{bmatrix}$$

3e.
$$y_{1NEW} = C^{-1}y_{1} = \frac{1}{17}\begin{bmatrix} -4 & -7 \\ 3 & 1 \end{bmatrix}\begin{bmatrix} 12 \\ 18 \end{bmatrix} = \frac{1}{17}\begin{bmatrix} -174 \\ 54 \end{bmatrix}$$

$$= \begin{bmatrix} -10.2353 \\ 3.1765 \end{bmatrix}$$

$$y_{2New} = C^{-1}y_2 = 1$$
 $= 17 \begin{bmatrix} -4 & -7 \\ 3 & 1 \end{bmatrix} \begin{bmatrix} -84 \\ 49 \end{bmatrix} = 17 \begin{bmatrix} -7 \\ 203 \end{bmatrix}$
 $= \begin{bmatrix} -6.4118 \\ -11.9412 \end{bmatrix}$

4 a. Dimension = 2
b.
$$\begin{bmatrix} \frac{1}{3} \\ \frac{1}{15} \end{bmatrix} = \lambda \begin{bmatrix} \frac{1}{3} \\ \frac{3}{3} \end{bmatrix} + \beta \begin{bmatrix} -\frac{1}{3} \\ \frac{1}{3} \end{bmatrix} = \begin{bmatrix} \alpha - \beta \\ \beta \\ \frac{3}{3} + \beta \end{bmatrix} \Rightarrow \beta = 3 \text{ and } \alpha = 4$$

c.
$$\begin{bmatrix} 67 \\ 1 \end{bmatrix} = \lambda \begin{bmatrix} 0 \\ 3 \end{bmatrix} + \beta \begin{bmatrix} -1 \\ 1 \end{bmatrix}$$

 $= \begin{bmatrix} \lambda - \beta \\ 3\lambda + \beta \end{bmatrix} \Rightarrow \beta = 1, \lambda = 1$
 $= \begin{bmatrix} \lambda - \beta \\ 3\lambda + \beta \end{bmatrix} \Rightarrow 101.00515tant$

no,

Just use the equation from b!

(3)
$$5M + 4(-N) + 9W = 0$$

 $5M + 5W = 0$ or $M = -W$

and
$$\begin{bmatrix} \overline{4} \\ -7 \end{bmatrix}$$
 is, but $\begin{bmatrix} 2 \\ 3 \end{bmatrix}$ is not.

6 a)
$$\lambda I - A = \begin{bmatrix} \lambda - 1 & 0 \\ -1 & \lambda - 3 \end{bmatrix}$$

$$| > I - A | = (>-1) / > -3)$$

50 eyervalus one
$$\lambda=1$$
, $\lambda=3$

$$\lambda e = Ae$$
, $\begin{bmatrix} e_1 \\ e_2 \end{bmatrix} = \begin{bmatrix} 1 & 0 \\ 1 & 3 \end{bmatrix} \begin{bmatrix} e_1 \\ e_2 \end{bmatrix}$

$$e_{1} = e_{1}$$
 $e_{2} = e_{1} + 3e_{2}$

Choose
$$\ell$$
, = / then ℓ z = $-1/2$

$$= \left[-1/2\right]$$

evenuetar corresponding to
$$\lambda = 3$$

$$\begin{bmatrix} 3e_1 \\ 3e_2 \end{bmatrix} = \begin{bmatrix} 1 & 0 \\ 1 & 3 \end{bmatrix} \begin{bmatrix} e_1 \\ e_2 \end{bmatrix}$$

$$3e_1 = e_1$$
 So $e_1 = 0$
 $3e_2 = e_1 + 3e_2$ Choose $e_2 = 1$

$$=\begin{bmatrix} 1 \\ 1 \end{bmatrix}$$

so the eigenvectors are
$$\begin{bmatrix} 0 \\ 1 \end{bmatrix}$$
, $\begin{bmatrix} 1 \\ -1/2 \end{bmatrix}$

$$A^{2} = \begin{bmatrix} 1 & 0 \\ 1 & 3 \end{bmatrix} \begin{bmatrix} 1 & 0 \\ 1 & 3 \end{bmatrix} = \begin{bmatrix} 1 & 0 \\ 4 & 9 \end{bmatrix}$$

$$-4A = \begin{bmatrix} -4 & 0 \\ -4 & -12 \end{bmatrix} \qquad \exists I = \begin{bmatrix} 3 & 0 \\ 0 & 9 \end{bmatrix}$$

$$= \begin{bmatrix} 0 & 6 \\ 0 & 0 \end{bmatrix}$$

$$C = \begin{bmatrix} 0 & 1 \\ 1 & -1/2 \end{bmatrix}, \quad C^{-1} = \begin{bmatrix} -1/2 & -1/2 \\ -1 & 0 \end{bmatrix}$$

$$\begin{bmatrix} 1 \\ 3 \end{bmatrix}$$
 In basis C 15 $\begin{bmatrix} -1/3 \\ 3 \end{bmatrix} = \begin{bmatrix} +7/2 \\ +1 \end{bmatrix}$

•

.

.